SAXON MATH

Course 2

Lesson 36 ¢ Ratio * Sample Space

Power Up

— Facts

— Mental Math

— Problem Solving
New Concepts

— Examples

— Practice Set
Written Practice
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36.3 in.

245 pages f 30 players

3.24 seconds SEE;%;W{ e

a. 12players 3, [z

b. 3 gy 6 players

a. One way to find BC in millimeters is to first convert AB to

40 mm and AC to 95 mm. Then subtract 40 mm from 95
mm.

104 cm?
42 cm
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8. 1000 mm + 900 mm + 400 mm = 2300 mm
Sampl
9. a 6.857 11. iy
7 X2=14 H1
H2
12,000,000
0.000012
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Written Practice continued

12. a. 4.2cm

b. 42cm
13. 13.56
17
14. a. 2o
b (2\(2\-23/-3 _ 6
. 2/\2/3-5-5" 25

15. 62 hror 7 hr; $11 per hour; She earned a little less than $77.

16. a. ~MPN or ~NPM 19. 30; 30.57
b. «ZLPMor /MPL 20. 4:3.78
c. <ZLPNor ZNPL 21. 715

17. 18 22. 105
18. 4.8 23, 3%
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24. 4

25. ]—182

26. 3%

27. 0.175

28. 0.024

29. a. 1225
b. 1.225

30. See student work.

L Main Menu 4 Leasun ‘}

© Harcourt Achieve and Stephen Hake. All rights reserved.



PP_C2_lesson_35.ppt
PP_C2_lesson_37.ppt

